= 500
o
§ 400

~
£
3
=
A
x
o

-400
50QEs

Iq

Rati

<dy>(um) for Py,

Ratio

<9z > (um) for PV

Ratio

300
200
100

100
200
300

TT
"

T
i

...........

...........

0.5

o
o
o

70 80 90 100
Simulated interactions

<ox> (um)

Ratio

50

P

e

—

4

30 40

50 60 70 80
Simulated interactions

90 100

000

800

600~

400

< d x> for merged vertices (um),

200

Ratio
=

0.5F-----1¢--

70 80 90 100
Simulated interactions

—=— DQM_TT__mkFit-DQM_original-0
—— DQM_TT__mkFit-DQM_original-127

[e]
o
o

(9]
o
o

D
o
o

200

0.5

60

70 80 90 100
Simulated interactions

500

400

300

200

100

70 80 90 100
Simulated interactions

<oy > (um)

Ratio

<oz > (um)

Ratio

10

o N A O

Y| SRR -

il

30 40

50 60 70
Simulated interactions

100,

[e]
o
I

o
=)
I
'
"

N
o
I

80 90 100

3040

50
Simulated interactions

60 70 80 90 100

(6]
o
o

N
o
o

300

200

< dy > for merged vertices (um)

100

"

o
[

R

Ratio
N
T

80 90 100
Simulated interactions

(Hmy,
o
S

o o
o o
o o

<0z> T'gr mel(ged \{Srticeg
3
o

—-1000

80 90 100
Simulated interactions



	Contents
	Page 1


